MATHEMATICS 1001 (Calculus II)

Table of Integrals

(a) /dezC

(b) /k:da:=k:x+0

(©) /k;f(:c) dz = k;/f(a:) iz

@ [l £g@lde = [ fa)drt [ g(o)do
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(e) /xrdx: f—i—l + C for any r # —1

(f) /id:vzlnm +C

(2) /cos(x) dx = sin(z) + C

(h) /sin(m) dr = —cos(z) + C

(i) /SGCQ(I‘) dx = tan(z) + C

(j) /sec(m) tan(x) dz = sec(x) + C
(k) /CSCQ(J}) dx = —cot(z) + C

(0) /CSC(QZ) cot(x) dr = —csc(x) + C
(m) /exd:c:em—l—C
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(n) /b dx—m—l—(?

CONTINUED ON PAGE 2



(0) / cosh(z) dr = sinh(z) + C

) / sinh(z) dz = cosh(z) + C

(@ / tan(z) dz = — Infcos(z)] + C = Infsec(z)| + C
(x) / cot(z) dz = In|sin(z)] + C

(s) / sec(z) dz = Injsec(z) + tan(z)| + C

(t) / ese(z) dx = — Injesc(z) + cot(z)| + C

1 . (T
(u) / T dx = arcsin <E> +C

1 1 x
(v) /m dx = % arctan <E> +C

1 1 T
(W) /m dr = E arcsec (E) + C

(x) linear composition: given constants m # 0 and b, if / f(z)dx = F(z) + C then

/f(mx—i—b)dx:%F(mx—i-b)—l—C

(y) w-substitution: if u = g(x) then

[ g (@) iz = [ ) du

(z) integration by parts: /w dv = wv — /’U dw



